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Question 1 of 30

Section A (22 questions x 1 mark each) 
 
Count the stars and write the number. 
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Question 2 of 30

Write the number shown below in word. 
 

Question 3 of 30

Look at the pictures below. 
 
Match and fill in the blanks. 
 

 
 
There are ______ more oranges than apples.

Question 4 of 30

4 and 5 make _______.
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Question 5 of 30

3 + ______ = 10

Question 6 of 30

Choose the two numbers that make up the number on the right. 
 

A) 4

B) 3

C) 2

D) 6

Question 7 of 30

1 more than 5 is ______.

Question 8 of 30

2 + 8 = _______
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Question 9 of 30

Count the flowers and choose the correct addition equation for the picture below. 
 

A) 7 + 2 = 9

B) 6 + 2 = 8

C) 7 + 3 = 10

D) 8 + 2 = 10

Question 10 of 30

Choose the two sets that are equal to 9. 
 

A) 6 + 3

B) 8 + 2

C) 4 + 5
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Question 11 of 30

Choose the correct addition equation based on the picture below. 
 

A) 5 + 2 = 7

B) 4 + 2 = 6

C) 3 + 2 = 5

D) 3 + 4 = 7

Question 12 of 30

 
6 - 2 = _______
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Question 13 of 30

Choose the correct equation based on the picture below. 
 

A) 8 - 4 = 4

B) 5 - 3 = 2

C) 8 - 3 = 5

D) 4 - 1 = 3

Question 14 of 30

Use the picture shown below and fill in the blank. 
 

 
 
10 - ______ = 8
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Question 15 of 30

Choose the box below that shows 2 more than 5. 
 

A) A

B) B

C) C

D) D

Question 16 of 30

Choose the correct subtraction equation that uses any 3 of the following numbers. 
 

A) 8 - 2 = 6

B) 8 - 5 = 3

C) 3 - 2 = 1

D) 5 - 1 = 4



1 ptPrimary 1 Math (Term 1)

1 ptPrimary 1 Math (Term 1)

1 ptPrimary 1 Math (Term 1)

Question 17 of 30

Choose the number that is greater than 2 and smaller than 5. 
 

A) 6

B) 1

C) 4

D) 2

E) 7

Question 18 of 30

Choose the correct equation based on the picture below. 
 

A) 3 + 4 = 7

B) 3 + 5 = 8

C) 4 + 4 = 8

D) 4 + 5 = 9

Question 19 of 30

______ is 1 less than 10.
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Question 20 of 30

1 + 2 + 4 = _______

Question 21 of 30

Look at the numbers given below. 
 
Choose the correct equation that adds the smallest number and greatest number. 
 

A) 3 + 5 = 8

B) 2 + 5 = 7

C) 3 + 7 = 10

D) 2 + 7 = 9

Question 22 of 30

Choose the set below that matches the number 6. 
 

A) 9 - 1

B) 5 - 0

C) 10 - 4

D) 7 - 3
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Question 23 of 30

Section B (8 marks) 
Read the questions carefully. 
 
Sam has 3 erasers. 
He buys 5 more erasers. 
a) How many erasers does Sam have altogether? Choose the correct equation. 
 

A) 2 + 5 = 7

B) 3 + 7 = 10

C) 3 + 5 = 8

D) 5 + 4 = 9

Question 24 of 30

Sam has 3 erasers. 
He buys 5 more erasers. 
How many erasers does Sam have altogether? 
 

 
 
b) Sam has ______ erasers altogether.
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Question 25 of 30

Farmer Li has 6 rabbits in his farm. 
He gives 2 rabbit away. 
a) How many rabbits does Farmer Li have left? Choose the correct equation. 
 

A) 4 - 2 = 2

B) 6 - 2 = 4

C) 6 - 3 = 3

D) 6 - 5 = 1

Question 26 of 30

Farmer Li has 6 rabbits in his farm. 
He gives 2 rabbit away. 
How many rabbits does Farmer Li have left? 
 

 
 
b) Farmer Li has ______ rabbits left.
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Question 27 of 30

Mother bakes 9 cupcakes for Nelly. 
Nelly eats 4 cupcakes. 
a) How many cupcakes are not eaten? Choose the correct equation. 
 

A) 5 - 4 = 1

B) 9 - 3 = 6

C) 4 - 2 = 2

D) 9 - 4 = 5

Question 28 of 30

Mother bakes 9 cupcakes for Nelly. 
Nelly eats 4 cupcakes. 
How many cupcakes are not eaten? 
 

 
 
b) ______ cupcakes are not eaten.

Question 29 of 30

There are 7 children at the playground. 
Ali, Bobby and Sam join them. 
a) How many children are there at the playground now? Choose the correct equation.

A) 5 + 3 = 8

B) 7 + 3 = 10

C) 5 + 9 = 14

D) 7 + 6 = 13
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There are 7 children at the playground. 
Ali, Bobby and Sam join them. 
How many children are there at the playground now? 
 
b) There are _______ children at the playground.


